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Instructions to the candidates:
1) Answer QI or Q2, Q3 or 04, Q5 or Q6.
2)  Figures to the right indicate full marks.

3) Use of non-programmable electronic scientific calculator is allowed.
4) Assume suitable data, if necessary.

Q1) Analyse the beam shown in the figure 1 by Slope Deflection Method and
draw SFD and BMD. Support B sinks by 4mm, EI = 18 x 10> N/mm?. [10]

SkN/m
A d Bf" RVAVAVAVAVAVAVAVAS D
N AV AN
Figure |
OR

02) Find the reactions and end moments of the frame shown in figure 2 by Slope
Deflection method and draw SFD and BMD. Take constant EI
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03) A continuous beam ABC is fixed at A and supported on rollers at B and C
such that AB = BC = 6m, I, , = 31 and I, . = 21. The loading on the beam
consist of uniformly distributed load of 40kN/m over the span AB and a
Concentrated load of 100 kN at the centre of the span BC. Using Moment
Distribution, calculate the support moments and draw SFD and BMD. [10]

OR
04) Analyse the frame as shown in the figure 3 using Moment Distribution Method
and draw SFD and BMD. [10]
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05) Analyse the beam shown in the figure 4 by flexibility method if support B

sinks by 2.2mm. Take EI =40 x 10" N/mm?. [10]
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06) Analyse the frame shown in the figure by flexibility method. Take constant E1.[10]
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